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MGT 206

Homework 3 – Chapter 4; Problems 2, 4, 14
2.

B. I would recommend paying overtime for departments A and B.  The reason that I make this recommendation is that both of these departments have used all of their allocated time.  If the total labor hours of department A is increased by one total profit increased $16; and if total labor hours of department B is increased by one total profit increased $19.  The increase in profit earned for each department is that amount that I would pay for each extra hour of overtime.
4.

A. The blend that yields the minimum cost while meeting the standards is 500 bean 1, 300 bean 2, 200 bean 3.

B. Minimum cost of coffee that meets the standards is $.55/Pound.

C. The aroma rating for this coffee is 75, and the taste rating is 84.4.

D. If more coffee were produced, the expected cost would be $.60/Pound.  Obtained using management scientist, although my excel did not come out correct.
14.
C. Each dual price except the Inventory for the last quarter is 0.  A dual price of 0 means that there is no advantage to producing more boats in that quarter, as there will be no more profit earned, or in this case a constraint may be violated.  The final dual price, Inventory in quarter 4, suggests that if one more boat would be produced that there would be 13610 in profit to be earned.

